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S =2 = & 7] 2B cl—L -
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1.5-A713EE9 28,732 28,732 0
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1.99n) 1,000 1,000 0

2. AW 7520 2,700 2,700 0

3. AAF G A 3,000 3,000 0

2. (=] LD 9,352 9,352 0

1. dRkp8n) 4,792 4,792 0

2.09H] 3,000 3,000 0

3. u A Q574 160 160 0

4. AW 7520 700 700 0

5. HF 4 H] 700 700 0

3 [=]uFHEF 12,680 12,680 0

1. dnkpgn) 6,100 6,100 0

2.o9H] 6,000 6,000 0

3. gWd - Fx] 580 580 0

2. HARALANEESD 34,045 15,146 18,899
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2.4 ] f A 107,766 110,910|  -3,144
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1L.A718F 21,500| 24,0000  -2,500|A7]2F : -250,0009%10¥= -2,500,000
2.8 FEE 4,356 5,000 -644 | A FEE 1 -64,4009+10Y = -644,000
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3. 713 A A Rk 1,724 1,724 0
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2. 1 FE TG 5,000 5,000 0
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